Home work3 – contact hour- grneral physics(3)
Class:3
Group:1
Q1: A man enters a tall tower, needing to know its height. He notes that a long pendulum extends from the ceiling almost to the floor and that its period is 6 s. (a) How tall is the tower? (b) What If? If this pendulum is taken to the Moon, where the free-fall acceleration is 1.5 m/s2, what is its period there?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
Q2: A “seconds pendulum” is one that moves through its equilibrium position once each second. (The period of the pendulum is precisely 2 s.) The length of a seconds pendulum is 0.882 7 m at Tokyo, Japan and 0.884 2 m at Cambridge, England. What is the ratio of the free-fall accelerations at these two locations?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
Q3: The angular position of a pendulum is represented by the equation .
(0.560 rad)cos ωt , where . is in radians and ' ω=3.34 rad/s. Determine the period and length of the pendulum.
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
Q4: A simple pendulum has a mass of 0.650 kg and a length of 2.00 m. It is displaced through an angle of 30.0° and then released. What are (a) the maximum speed, (b) the maximum angular acceleration, and (c) the maximum restoring force?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
موعد التسليم: قبل المحاضرة القادمة.
الحل بخط اليد ويرجى الكتابة بخط واضح ومرتب.
الحل فردي ولامانع ن سؤال اعضاء المجموعة والتشاور معهم دون الحل الجماعي.
يمكنك سؤال استاذة التمارين في ساعاتها المكتبية.
في حال نقل الحل تلغى درجة الواجب.















Home work3 – contact hour- grneral physics(3)
Class:3
Group:2
Q1: A man enters a tall tower, needing to know its height. He notes that a long pendulum extends from the ceiling almost to the floor and that its period is 5 s. (a) How tall is the tower? (b) What If? If this pendulum is taken to the Moon, where the free-fall acceleration is 1.8 m/s2, what is its period there?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
Q2: A “seconds pendulum” is one that moves through its equilibrium position once each second. (The period of the pendulum is precisely 2 s.) The length of a seconds pendulum is 0.662 7 m at Tokyo, Japan and 0.664 2 m at Cambridge, England. What is the ratio of the free-fall accelerations at these two locations?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
Q3: The angular position of a pendulum is represented by the equation .
(0.670 rad)cos ωt , where . is in radians and ' ω= 7.73 rad/s. Determine the period and length of the pendulum.
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
Q4: A simple pendulum has a mass of 0.350 kg and a length of 3.00 m. It is displaced through an angle of 17.0° and then released. What are (a) the maximum speed, (b) the maximum angular acceleration, and (c) the maximum restoring force?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
موعد التسليم: قبل المحاضرة القادمة.
الحل بخط اليد ويرجى الكتابة بخط واضح ومرتب.
الحل فردي ولامانع ن سؤال اعضاء المجموعة والتشاور معهم دون الحل الجماعي.
يمكنك سؤال استاذة التمارين في ساعاتها المكتبية.
في حال نقل الحل تلغى درجة الواجب.















Home work3 – contact hour- grneral physics(3)
Class:3
Group:3
Q1: A man enters a tall tower, needing to know its height. He notes that a long pendulum extends from the ceiling almost to the floor and that its period is 7 s. (a) How tall is the tower? (b) What If? If this pendulum is taken to the Moon, where the free-fall acceleration is 1.8 m/s2, what is its period there?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
Q2: A “seconds pendulum” is one that moves through its equilibrium position once each second. (The period of the pendulum is precisely 2 s.) The length of a seconds pendulum is 0.772 7 m at Tokyo, Japan and 0.774 2 m at Cambridge, England. What is the ratio of the free-fall accelerations at these two locations?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
Q3: The angular position of a pendulum is represented by the equation .
(0.430 rad)cos ωt , where . is in radians and ' ω= 5.73 rad/s. Determine the period and length of the pendulum.
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
Q4: A simple pendulum has a mass of 0.450 kg and a length of 3.00 m. It is displaced through an angle of 20.0° and then released. What are (a) the maximum speed, (b) the maximum angular acceleration, and (c) the maximum restoring force?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
موعد التسليم: قبل المحاضرة القادمة.
الحل بخط اليد ويرجى الكتابة بخط واضح ومرتب.
الحل فردي ولامانع ن سؤال اعضاء المجموعة والتشاور معهم دون الحل الجماعي.
يمكنك سؤال استاذة التمارين في ساعاتها المكتبية.
في حال نقل الحل تلغى درجة الواجب.
















Home work3 – contact hour- grneral physics(3)
Class:3
Group:4
Q1: A man enters a tall tower, needing to know its height. He notes that a long pendulum extends from the ceiling almost to the floor and that its period is 9 s. (a) How tall is the tower? (b) What If? If this pendulum is taken to the Moon, where the free-fall acceleration is 1.8 m/s2, what is its period there?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
Q2: A “seconds pendulum” is one that moves through its equilibrium position once each second. (The period of the pendulum is precisely 2 s.) The length of a seconds pendulum is 0.782 7 m at Tokyo, Japan and 0.784 2 m at Cambridge, England. What is the ratio of the free-fall accelerations at these two locations?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
Q3: The angular position of a pendulum is represented by the equation .
(0.870 rad)cos ωt , where . is in radians and ' ω= 2.65 rad/s. Determine the period and length of the pendulum.
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
[bookmark: _GoBack]Q4: A simple pendulum has a mass of 0.450 kg and a length of 2.00 m. It is displaced through an angle of 25.0° and then released. What are (a) the maximum speed, (b) the maximum angular acceleration, and (c) the maximum restoring force?
ـــــــــــــــــــــــــــــــــــــــــــــــــــ
موعد التسليم: قبل المحاضرة القادمة.
الحل بخط اليد ويرجى الكتابة بخط واضح ومرتب.
الحل فردي ولامانع ن سؤال اعضاء المجموعة والتشاور معهم دون الحل الجماعي.
يمكنك سؤال استاذة التمارين في ساعاتها المكتبية.
في حال نقل الحل تلغى درجة الواجب.














